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H1 : µ ≠ µ0

���	
����


t =
n/S

X 0µ− ; df = n - 1

�������� 4.1

��$	123�	�
��$�*!
�������!�0�
#��6�
 $���������!�*!
���<��
#���� 11.8 

��!�-�><��- �4&�!	#�!�	123���"�����$�?#(	�����	#�!
�������!�0�
#��"���
 @ ��� 9 ���"
 ����B���

$���!�-�><��-*!
���<�7�$!�8�#�
��"

11.6, 12.1, 10.4, 11.8, 11.3, 12.0, 11.0, 10.4, 11.8 
����#�
�?#(��&!?$���� ��!�-�><��-������*!
���<�'��������!���������
?���� 11.8 

!���
$���������D	�
��
�
 

�$$�
%��	�
��
�
 H0 : µ1 = 11.8  
H1 : µ1 ≠ 11.8 

���������		
���
���

����	
������� : �������� t



���'0( SPSS �4&�!����
������-*(!$8�64

'0(�$�8���� �Analyze� �$�8�!
 �Compare Means� �$�8��!� �One-Samples T Test� ��
����B��(����
 �One-Sample T Test� ��&!�������	���(!
���'��'�0�!
 �Test Variable(s):� ���
4
$4-����
	��'��'�0�!
 �Test value:� #�
G�4����!� 

G�4����!� 4.1 

��(���
� �OK� H�����$�����$��7���#
7���45-'���(����
 Output 

 

G�4����!� 4.2 

����
�������#
�����
�
4&"�%��*!
������ �������
	���!
����#
�����
�
 t-test 
��$���������!7�����
������-�
����
?#(#�
��"

One-Sample Statistics

9 11.3778 .6496 .2165MIX

N Mean Std. Deviation

Std. Error

Mean

One-Sample Test

-1.950 8 .087 -.4222 -.9215 7.71E-02MIX

t df Sig. (2-tailed)

Mean

Difference Lower Upper

95% Confidence Interval

of the Difference

Test Value = 11.8
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H0 : µ1 = µ2

H1 : µ1 ≠ µ2
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S ; df1 = n1 - 1 ; df2 = n2 - 1
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Group Statistics

9 5.1111 1.6159 .5386

8 7.5000 2.0000 .7071

GROUP
1.00

2.00

SCORE

N Mean Std. Deviation

Std. Error

Mean

Independent Samples Test

.689 .419 -2.723 15 .016 -2.3889 .8772 -4.2587 -.5191

-2.688 13.502 .018 -2.3889 .8889 -4.3020 -.4758

Equal variances assumed

Equal variances not assumed

SCORE

F Sig.

Levene's Test for

Equality of Variances

t df Sig. (2-tailed)

Mean

Difference

Std. Error

Difference Lower Upper

95% Confidence Interval

of the Difference

t-test for Equality of Means
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H0 : µ1 = µ2

H1 : µ1 ≠ µ2
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Paired Samples Statistics

52.0000 8 4.5356 1.6036

55.6250 8 4.5650 1.6140

WEIGHT1

WEIGHT2

Pair 1

Mean N Std. Deviation

Std. Error

Mean

Paired Samples Correlations

8 .959 .000WEIGHT1 & WEIGHT2Pair 1

N Correlation Sig.

Paired Samples Test

-3.6250 1.3025 .4605 -4.7139 -2.5361 -7.872 7 .000WEIGHT1 - WEIGHT2Pair 1

Mean Std. Deviation

Std. Error

Mean Lower Upper

95% Confidence Interval

of the Difference

Paired Differences

t df Sig. (2-tailed)
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��/�$ X SD D SDD t Sig. 
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